





خالد البتال 433 مالد 433 Math 481 (Hw)

I] we have $f(x) = \cos(x)$ is cont on $\mathbb{R} = x$ f(x) is cont on $\mathbb{R} =$

27 f(x) = |x| is continuous function on |R| = x it is conton [E-I, I] = x it is riemann Integrable, we have $f(x) \in [R[I-I,I]]$ Since it is cont we use FTC to compute the Integral $\int |X| dx = 2 \int |X| dx = |X|^2 \int |I| = |I|$ the answer o

3]
$$f(x) = \begin{cases} 1 & x = 1, n \in \mathbb{N} \\ 0 & \text{otherwise} \end{cases}$$
, $f(x) : [0, 1] \rightarrow \mathbb{R}$

For any Pontition P: $\{x_0, \dots, x_n\}$ for [a, 1], we have L(f, p) = 0 because every Interval has an Irrational => M(f) = 0 because $f(\alpha) = 0$ for every $\alpha \in G[Q^c \cap E_0, 1]$ so we hered to show for $\epsilon > 0$ $\exists P_{\epsilon} = s + if = Mesh(p) < s$ => $U(f, P_{\epsilon}) < \epsilon$; Let $\epsilon > 0$ be given we can assume that $\epsilon < 1$, Let x_0 be 0 and choose $x_1 = \frac{\epsilon}{2}$, how assume we have $\frac{1}{N}$, $\frac{1}{N}$, $\frac{1}{N}$, $\frac{1}{N}$ are the numbers of the form $\frac{1}{N}$, $\frac{1}{N}$, $\frac{1}{N}$ in $\frac{1}{N}$, $\frac{1}{N}$ the $\frac{1}{N}$ in $\frac{1}{N}$ assume $\frac{1}{N}$ assume $\frac{1}{N}$ assume $\frac{1}{N}$ is the smallest number of the form $\frac{1}{N}$ in $\frac{1}{N}$ is the smallest number of the form $\frac{1}{N}$ in $\frac{1}{N}$ is the smallest number of the form $\frac{1}{N}$ in $\frac{1}{N}$ is the smallest number of the form $\frac{1}{N}$ in $\frac{1}{N}$ is $\frac{1}{N}$.

Let $E' = \min\{\frac{\xi}{2}, \frac{\xi_0}{2}, \frac{\xi_0}{K_1}\}$, assume we have L element of the form $\frac{1}{K_1}, \frac{1}{K_2}, \dots, \frac{1}{K_L} = 1$ in $(\frac{\xi}{2}, 1]$ Let

so werve concluded U(F, P) - U(F, P) < & => fis hemann Integrable and $\int F dx = L(F) = 0$ $HJ F(X) = \begin{cases} \frac{1}{X}, & X \in \{0, 1\} \\ 0, & X = 0 \end{cases}$ $f(x): [0,1] \to \mathbb{R}$ for every $C \in (0,1]$ f is Integrable on C(0,1) but $f(x) \notin R[0,1]$ 5] since \(\frac{14 + E^3}{4 + E^3}\) is continuous for \(E \in \mathbb{R}^{\tau}\left(0) = > \) g(x)= \(\sqrt{4+t}^3 dt is differentiable lunction => He right hand derivative for x=0 exist and is by definition $\lim_{x\to 0^+} \frac{g(x)-g(0)}{x-0}$ = $\lim_{x \to \infty} \frac{1}{x} \int \sqrt{4+t^3} dt$, because g(0)=0, g'(0)=0 $g'(x) = \sqrt{4 + x^3} = \sqrt{4 = 2} = \lambda \lim_{x \to 0^+} \sqrt{x} \int_{x \to 0^+} \sqrt{4 + t^3} dt = 2$ 6] we have sin(x2) is cont & boud on [0,1], so well Investigate $\int \sin(x^2) dx$, make substitution $E = x^2 = x = \sqrt{E} = x dx = dx$ = $\int \sin(x^2) dx = \int \frac{\sin(x)}{2\sqrt{x}} dx = \lim_{x \to \infty} \frac{\cos(x)}{2\sqrt{x}} + \frac{\cos(x)}{2} + \frac{1}{2} \int \frac{-\cos(x)}{2\sqrt{x}} dx$ $\lim_{\alpha \to \infty} \frac{-\cos(\alpha)}{2\sqrt{\alpha}} = 0$ we also have $\int \left| \frac{-\cos(x)}{2x^{\frac{3}{2}}} \right| dx \le$ J_3 dx which is convergent => Ssin(x2) dx conreges

7) Since we have $\frac{\sin^2(x)}{x^2}$ is bounded been zero and him $x \to \frac{\sin^2(x)}{x^2} = 1 = \sum_{0}^{\infty} \frac{\sin^2(x)}{x^2} dx$ exist, how for $\int \frac{\sin^2(x)}{x^2} dx, \text{ Since } 0 \le \sin^2(x) \le 1 \text{ and since } \int \frac{1}{\sqrt{2}} dx$ converges to 1 => \(\int \sin^2(x) \, dx \text{ converges} => J sin'(x) dx comerges = 8] for $o < P < L I = \int_{-LP}^{\infty} \frac{\cos(L)}{dL} dL$ if we Integrate by Ports taking $V = \frac{1}{tP}$, du = cos(t) -> T=lim1 Sin(+)] + P Sin(+) d+, the Rirst limit Since pro converges to - Sin(1) aslo since pro => p+1>1 => P \ \frac{\sin(1)}{\superpressure} \ \ \text{dt} is absolutely convergent => it is consept. => I converges = For $P < 0 \Rightarrow t^p = t^p = t^s$ for positive s $\Rightarrow \int_{t}^{s} cos(t) dt \quad diverges \quad 0$ now for p = 0 $\int_{t}^{\infty} cos(t) dt \quad diverges \quad 0$ 9] I= \(\frac{\cos(t)}{t} \) dt \quad \text{for } P>0 \quad \text{, for } P>1 I is absolutely convergent because $0 \le |\cos(H)| \le 1 \ \text{and} \ \int_{+P}^{-1} df \ |\cos(H)| \le 1 \ |\cos($ for OCP < 1 it converges from "8"

For p=1 we have $I=\int cos(t) dt$, by pents $I=\lim_{\alpha\to\infty} I \sin(t) \int_{\alpha}^{\alpha} \int \frac{sin(t)}{t^2} dt$, the first limit exist about of $\int \frac{sin(t)}{t^2} dt$ is absolutely convergent => I converges

=> $\int \frac{cos(t)}{t^2} dt$ converges for all p>0 o

10] to compute $\int_{0}^{3} \frac{\sqrt{x}}{\sqrt{27-x^{3}}} dx$, we make

He substitution $u = x^{\frac{3}{2}} = x^{$

the denomination varishes at 127

 $L = \lim_{\alpha \to \sqrt{27}} \frac{2}{\sin^{2}\left(\frac{u}{\sqrt{27}}\right)} = \frac{2}{3} \sin^{2}\left(1\right) = \frac{$

onswer => the Integral converges of

The sequence is Pointwis convergent to f(x) = 0, if x = 0=> $f_n(0) = 0$. If x > 0 $f_n(x) = x \frac{1}{e^n x}$ where x > 0 => $e^n x > \infty$ => $f_n(x) \to 0$

(U) $f_n(x) = \frac{Sin(nx)}{1+nx}$ converges pointwise to f(x) = 0, it x = 0=> $f_n(0) = 0$. Le x > 0 => Sin(x) is bounded $A + 1+nx \rightarrow \infty$ => $f_n(x) = 0$

 $Z \cdot \int f_{n}(x) = \frac{f_{n}(1-x^{2})^{n}}{(1-\frac{1}{n})^{n}x^{n}}, \quad weo \leq (1-\frac{1}{n})^{n} < 1 \quad \forall n \in \mathbb{N}$ $for \quad x \in (0,1), \quad x^{n} \to 0. \quad Hence, \quad f_{n}(x) \to 0 \Rightarrow f(x) = 0. \quad Also \quad for \quad x = 1$ $f_{n}(1) = (1-\frac{1}{n})^{n} \to \frac{1}{e} \Rightarrow f(x) = \frac{1}{e} \Rightarrow f_{n}(x) \quad comeques \quad Poinheit$ $for \quad f(x) = \begin{cases} 0, & x \in (0,1) \\ \frac{1}{e} & x = 1 \end{cases}$

Q2] (1) The sequence is Pointwise converged to Rul XI

NOW Sup $|f_n(x) - f(x)| = Sup |\sqrt{x^2 + \frac{1}{N}} - \sqrt{x^2}| = \frac{1}{\sqrt{x^2 + \frac{1}{N}} + \sqrt{x^2}}| < \frac{1}{\sqrt{x}}$ Sup $|f_n(x) - f(x)| = \sqrt{x}$ $= \frac{1}{\sqrt{N}} \rightarrow 0 = Sup |f_n(x) - f(x)| \rightarrow 0 = Sup |f_n(x) - f(x)| \rightarrow 0 = Sup |f_n(x) - f(x)| \rightarrow 0$

(i) $f_n(x) = Sin\left(\frac{n}{nx+i}\right)$, $\forall x \in \mathbb{R}^+$ $f_n(y)$, $Sin\left(\frac{1}{\alpha x}\right)$

thow Sup $|f_n(x) - f(x)| = Sup |Sin(\frac{h}{hx+1}) - Sin(\frac{1}{X})| =$

 $\sup \left| \frac{n}{nx+1} - \frac{1}{x} \right| \left| \cos(\alpha) \right| \left| \left| \sup \frac{n}{nx+1} - \frac{1}{x} \right| \right|$

= $\sup \left| \frac{-1}{nx+1} \right| \leq \sup \left| \frac{1}{na+1} \right| \Rightarrow 0$ as $n \rightarrow \infty$

hence the convergence is wiform o

- فالد السال - ع 22° م ا وي ا

48L HW(II)

Seanned with-Mobile SCANNER E) fn(x)= √n (1-x3), +x ∈ [= ,1] fn(x) → 0 Sup 17,(x) 1 & m(1- 12)" = m (3)" -30 tricks is uniformely convergent.

Q3] |fn(x)-f(x)| = | nx+1 -x |, fn(x)-1x x x ER h= 1 / - Have sup 1 f, (x) - f(v) = 1 / - 0 => folks is intormely convergent.

Now facks = n2x2 + 2nx +1 -> x2 Yx & BL

 $|f_n(x) - f(x)| = \frac{2n}{n} + \frac{1}{n^2} + \frac{1}{n^2}$ of for arbitrary largex => Sup If 2(x)- f2(x) +> 0 => f2 is not uniformely commented

we conclude it for go converges intormely for x & A ≠> fn9n converges uniformly to fg

\$4] we can easily see that $g_n(x) = \frac{\sin(nx)}{nx}$ converges withormely to g(x) = 0 $\forall x \in [a, \infty)$ a $x \in [a, \infty]$

=> we can Interchange the limits and Interval => $\lim_{n\to\infty} \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} \lim_{n\to\infty} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} \lim_{n\to\infty} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} \lim_{n\to\infty} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{nx} dx = \int_{0}^{\pi} 0 dx = 0$ $\lim_{n\to\infty} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{(2n+1)!} dx$ $\lim_{n\to\infty} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{(2n+1)!} dx$ $\lim_{n\to\infty} \frac{\sin(nx)}{(2n+1)!} dx = \int_{0}^{\pi} \frac{\sin(nx)}{(2n+1)!} dx$

4 x e B

 $(x) \sum_{n=1}^{\infty} (\frac{x}{x+1})^n, \quad \forall \quad x > 0 \sum_{n=1}^{\infty} (\frac{x}{x+1})^n \text{ is a geometric}$

Soies with $0 < q = \frac{\pi}{x+1} < 1$ bence the feries Converges pointwise, it is not in termely converged

for Sup, S. f.(x) = r -> 0 for x = RU(0) K=n

onbitrary large h, r Scanned with

 $[x] = \sum_{n=1}^{\infty} \frac{x}{(n+x^2)^2}$, for any $x \in \mathbb{R}$ $x = \sum_{n=1}^{\infty} \frac{x!}{(n+x^2)^2}$ Converges Pointwise, now [Sup If a (x)], to compute it $f_n(x) = (n+x^2)^2 - 2(x)(2x)[n+x^2] = (n+x^2)[n+x^2-4x^2]$ $(h + X^2)^2$ $(n + X^2)^4$ $= 0 \Rightarrow h-3x^2 = 0 \Rightarrow x = t\sqrt{\frac{h}{3}}$ it is easy to see that out $x = \sqrt{\frac{n}{3}}$ fr(x) attains The maximum $f_n(\frac{r_n}{3}) = \frac{\sqrt{n}}{(n+\frac{n}{3})^2} \rightarrow$ => also we have by p series \(\frac{\frac converges => the series converges uniformely 5) $\sum_{n=1}^{\infty} (-1)^n \frac{x^2 + n}{n^2}$, $\forall x \in [a,b]$ the series (>=5 (-1) x + 2(-1) the formers is absolutely converget, the n=1 h2 h=1 h Lather is convergent by alternating herie test also & bounded Inherval the Serie \(\subseteq (-1)^n \times^2 + h \\ n^2 \) converges unhermely B) \(\sum_{n=1}^{(-1)^n} \), the series converges \(\forall \times \) \(\times \) $0 < \frac{1}{(1+x^2)} \le 1$. Since $\sum_{n=1}^{\infty} \frac{(-1)^n}{n}$ converge =) $\forall \ \geq \ > \ 0 \quad \exists \quad N, \ S. \ + \ > \ M, \ N > N \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array} \right\} \quad \left\{ \begin{array}{c} M \\ \times = \ N \end{array}$ $= \frac{1}{1+\chi^{2}n} \left\{ \frac{\xi(-1)}{K=n} \right\} \left\{ \xi \right\} \left\{ \frac{\chi}{K} \right\} \left\{ \frac{\chi}{K}$ => the Series is unihermely convergent

Q6] the series
$$\sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^{2}}$$
 converges unformly In

Reighbor head of $\frac{1}{2}$ = $\lim_{x \to 1} \frac{x^{2}}{n^{2}} = \frac{x^{2}}{n^{2}} \lim_{x \to 1} \frac{(-1)^{n-1}}{n^{2}} = \frac{x$

$$\begin{array}{lll} Q & 10 \end{array} & f(x) = 5 & \left(\frac{1}{1 + (3x^{2})^{2}} \right) = 5 & \left(\frac{1}{1 - \left[\left(-1 \right) \left(3x^{2} \right)^{2} \right]} \\ = 5 & \sum_{n=0}^{\infty} \left(-1 \right)^{n} \left(3x^{2} \right)^{2} \\ & = 5 & \sum_{n=0}^{\infty} \left(-1 \right)^{n} \left(3x^{2} \right)^{2} \\ & = 7 & \text{otherwise} \end{array} & \left(\frac{1}{1 + \sqrt{14}} \right) = \left(-\frac{1}{1 + \sqrt{3}} \right) \cdot \frac{1}{\sqrt{3}} \right) \\ & = 5 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right) \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right) \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^{2} \cdot \frac{1}{\sqrt{3}} \\ & = 7 & \sum_{n=0}^{\infty} \left(-\frac{1}{1 + \sqrt{3}} \right)^$$

E By, how Let [E:] be countable collection of sels in B, => E; = Yn A; , where A; & B, new UE: = UynAi = Yn (UAi), but Since Bis & - Algebra => Yet A; EB => Yn (UAi) E By. Y Yn E & By; (YNES (note we want the complement in Y) Ly = Yne E In X => since E EB => By is o- Algebra => since E is closed it is measurable and

Since E is bounded E = [a,b] =>
by monotomicity => M(E) < M([a,b])=b-q

for some a, b & IR .

5

Qs] the limits $A = \lim_{x \to -\infty} f(x)$ $A = \lim_{x \to -\infty} f(x)$ Existin \mathbb{R} Since R is Increasing the set $f'((-\infty, 9))$ is

Interval for every $a \in \mathbb{R}$ (because if $x \leq y$ then $f(x) \leq q$ is $f(y) \leq q$ => $f(y) \leq y$ Fax $f(x) \leq q$ is measurable o

E By, now Let {Ei} be countable collection

of sels in By => E; = Yn A; , where A; EB,

now UE: = UYAAi = YA (UAi), but

Since B is & - Algebra => Y A; EB => Y n (UA;)
E By. Y Y n E E By;

(YNE) (note we wont the complement in Y)

L, = Yne. E In X => since E EB
=> By is o- Algebra

=> since E is closed it is measurable and

Since E is bounded E = [a,b] =>
by monotomicity => M(E) < M([a,b])=b-9

for some a, b & IR

since I is Increasing the set fi((-0, a)) is

Interval for every a ER (because if XXY

Hen fexisa 1 fexisa) => " XKE < y

fax fill < fiv) < a, so f is measurable o

E By, now Let [Ei] be countable collection

of sels in B, => Ei = Yn Ai, where AicB,

now UE: = UYNA: - YN (UA:), but

Since Bis & - Algebra => V. A; &B => Yn (UA)

E By. Y Yn E & By;

(YNES (note we want the complement in Y)

L, = Yne. E In X => since EEB
=> By is or-Algebra

Q27 if E is compact => it is closed and bounded => since E is closed it is measurable and

Since E is bounded E C [a,b] =>
by monotomicity => M(E) < M([a,b])=b-q

for some a, b & IR

QSI the limits A= limf(x) AB-lim f(x) Exist in R

since P is Increasing the set P((-10, 97) is

Interval for every a ER (because if Xxx

Hen PCX) SQ A FCX) SQ) => X XKE KY

FOR FILISFLYDER, sa f is measurable a

047 take f(x) = 1 = 9(x) over (0,1] f, g are belosque Integrable, but fg = 1 is note Q5] flx) is monotone bounded Herefore measurable Lebesgue Integrable, and since fix) is hiemann Integrab over [0,1] Sfixidx = 3 => its believe Integration correctly with it's Reiman = 3 f dm = 3 g Q6] we have sin(x) is measurable bounded => \$ -1 m(Q) < \ Sin(x) dm < \ m(Q) but since Q is comtable m(Q)=0. Hence J sincridm = 0

Q7 1) each function is $\frac{h \times}{1 + n^2 \times 2}$ is Lebesgue Integrable

They are memorin Integrable => $\int \frac{h \times}{1 + n^2 \times 2} dm$ = $\int \frac{h \times}{1 + n^2 \times 2} dx = \frac{1}{2h} [\ln(1 + n^2 \times^2)]^{\frac{1}{2}} = \frac{1}{2h} [\ln(1 + n^2 \times^2)]$

 $=> \lim_{N\to\infty} \frac{1}{2n} \ln(1+n^2) = 0$

Q7 07 lim 5 n sin2 (nx) dm , fu = n sin2 (nx) I for 1 the which I Integrable on Early note that forto => by the dominate conveyence the lim [n sin2 (n x) dm = [lim n sin2 (n x) dm = 0 00 m = 0 00 Q72.7 Lim S Sin(x) flx, don since f is Lebesque int => 1 fext is => [sin(x) for] 5191 => by dominated convergence therem $\frac{\int \lim_{n\to\infty} \sin(\frac{x}{n}) f(x) dm}{C} = 0$ Q 37 f(x) = x2/n(x), note lim f(x) = 0, by lohirib the function is bonded cont on (0,1] = > 11 15 tremann Int-grable = > it is be begge Integrable 9(9) solved in 7), 9 (4) the some as 7 (4) 9 s) Note that (1+ x - - - - - also (1+ x - 1 < ex, you for (1+ x) 5in (x) I fal (e which is Integrable on (4) w) => by dominate confige theorem we get J lim (1+x-h sin(x) dx = Seodre 0 0

@932) for nx 3 \ (1+ x) sin(\frac{x}{n}) dx = n \ \frac{sin(+)}{(1+t)^n} d+ by parts = $\frac{n}{n-1}$ $\int \frac{\cos(t)}{(1+t)^{n-1}} dt$ Since | cos(+) | < 1 which is Integrable, then lim $\int_{n\to\infty}^{\infty} (1+\frac{x}{h})^{-n} \sin(\frac{x}{h}) = 0$, by dominate convergence of 9 0] lim Sin"(x) dx, now Sin"(x) is integrable also Isin'axil < 1 which is Integrable on any bounded , also Sinⁿ(x) -> 0 almost everywhere So by dominated convergence theorem $\int \lim_{x \to \infty} \sin^n(x) dx = 0$ [ab] $x \to \infty$

9 ,] Since f(x) E R [0,1] => | f(x) | E R [0,1]

=> for $x \in [0,1]$ | $f(x) \times^n | \leq |f(x)|$ which is

Integrable, note $x^n \to 0$ almost everywhere (actually everywhere except when x=1=1 by dominate convergence theorem $\int \lim_{n\to\infty} x^n f(x) dx = 0$

Q to] well froof that f is bounded on I= [a, b]

If f \(\mathcal{E} R(ab) \), then \(\mathcal{E} L'(I) \) and

S fdm = S f(x)

tet P= {xo, x, ..., xn} be a partition of I define up and Vp on I as Lakowi

 $\varphi_{p} = \sum_{i=0}^{b-1} m_{i} \times [x_{i}, x_{i+1}]$ $\psi_{p} = \sum_{i=0}^{b-1} M_{i} \times [x_{i}, x_{i+1}]$

m: = inf {f(x): x; <x < x; +13 M: = Sup {f(x): x; <x <x; +13

observe $\psi_p \le f \le \psi_p$, ψ_p , $\psi_p \in S(I)$ from Riemann detroihin at Integral $\int_{I} \psi_p \, dm = L(f, p)$

SI vdm = U(F, P)

also Q=P => φ_Q >> φ_P , $\psi_Q \leq \psi_P$ choose sequence of postition (Pn) such that $P_{n+1} \supseteq P_n$ $||P_n|| \to G$

we conclude (4n) is decreasing and 4n is Increasing

their limits $\Psi(x) = \lim_{n \to \infty} \varphi_n(x)$, $\psi(x) = \lim_{n \to \infty} \psi_n(x)$

are measurable and $4 \le f \le \varphi$, f is bounded => $y_n - q_n$ is bonded and bonded convergence Heaven => $\int_{I} (\varphi \psi - \varphi) dm = \lim_{n \to \infty} \int_{I} (y_n - \varphi_n) dm$

= Lim [U(F, Pn) - L(F, Pn)]

= U(F) - U(F) = 0

tene 4 = 4 which means & is measurable

and Sifdm = f 4 dm = lim Squ dn = lim L(F, P)

 $= L(F) = \begin{cases} f(x) dx \end{cases}$ by this f is continues => if is riemann Integrable => tebesque Integrable (4) x (10) X (10) 25 = 3 4 We see Mi X CX; Xin O Constant of the second Topda alde pl primary a commence on my 2 2 (20) 20) 3 -17 4